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B:5/7

B:5/7A:5/14

D:3/2C:6/14 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 1.
Найдите сумму  

3/7 и 2/7.



B:35/169

B:35/16
9A:2/0

D:2/13C:7/5 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 2.
Найдите разность 

7/13 -5/13.



B:14/15

B:14/15A:10/21

D:3/4C:7/10 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 3.
Найдите 

произведение 

2/3 и 5/7.



B:1

B:1A:2/9

D:1/3C:2 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 4.
Найдите частное 

2/3 и 1/3.



B:12/18

B:12/18A:1/12

D:6/9C:2/3 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 5.
Сократите дробь  

24/36.



B:9/8

B:9/8A:6/12

D:6/8C:1/2 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 6.
Найдите сумму 

3/8 и ¾.



B:10/6

B:10/6A:3/4

D:11/2C:10/1
2 1                     501

2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 7.
Найдите разность 

11/12 и 1/6.



B:1/2

B:1/2A:42/84

D:72/4
9

C:13/1
9 1                     501

2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 8.
Найдите 

произведение 

6/7 и 7/12.



B:19/57

B:19/57A:3/9

D:13/5
1

C:17/5
1 1                     501

2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 9.
Какая из дробей не 

сократимая 

3/9, 19/57, 17/51, 13/51?



B:6 5/5

B:6 5/5A:6

D:7C:6 
5/10 1                     501

2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 10.

Найдите сумму 



B:72

B:72A:200

D:90C:150 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 11.
Найдите 3/5 от 120.



B:4 42/76

B:4 42/76A:4

D:6C:8 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 12.
Вычислить: 



B: :1/5 =17/51

B: :1/5 
=17/51

A:1/5 
<17/51

D: :1/5 
<17/51

C: :1/5 
>17/51 1                     501

2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 13.
Сравнить 

1/5 и 17/51.



B:160

B:160A:100

D:180C:90 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 14.
¾ числа равны 120. 

Чему равно это 
число?



B:2/10

B:2/10A:1/10

D:4/10C:3/10 1                     501
2
3
4
5
6
7
8
9
10
11
12
13
14
15

1.5                 100
2                  200
2.5                500
3              1000
3.2            2000
3.4             4000
3.6             8000
3.8            16000
4             32000
4.2            64000
4.4           125000
4.6          250000
4.8          500000
5         1000000

Вопрос 15.
Какую дробь можно поместить 

между 1/5 и 2/5, чтобы они 
были расположены по 

возрастанию? 



Выход 

Выход 



Выход

Выход



Выход

Выход



Выход

Выход




